

Don't forget to Subscribe



Don't forget to Subscribe

Ex. 7.2

②

$$(i) |3x - 5| = 4$$

in equation

$$(3x - 5) = 4 \quad \text{or} \quad -(3x - 5) = 4$$

$$3x = 4 + 5 \quad \text{or} \quad 3x - 5 = -4$$

$$3x = 9$$

$$3x = -4 + 5$$

$$x = \frac{9}{3}$$

$$3x = 1$$

$$x = 3$$

$$x = \frac{1}{3}$$

S.S { 3 or $\frac{1}{3}$ }

==

Absolute value equation

$$|3x| + 3 = 0$$

$$|3x|$$

$$|5| = 5$$

$$|-5| = 5$$

ii)

$$\frac{1}{2} | 3x+2 | - 4 = 11$$

$$\frac{1}{2} | 3x+2 | = 11 + 4$$

$$\frac{1}{2} | 3x+2 | = 15$$

$$| 3x+2 | = 15 \times 2$$

$$| 3x+2 | = 30$$

$$3x+2 = 30$$

or

$$-(3x+2) = 30$$

$$3x = 30 - 2$$

$$3x = 28 \Rightarrow x = \frac{28}{3}$$

$$3x+2 = -30$$

$$3x = -30 - 2$$

$$3x = -32$$

$$x = \frac{-32}{3}$$

$$\text{S.S } \left\{ \frac{28}{3} \text{ or } -\frac{32}{3} \right\}$$

$$\text{iii) } |2x+5| = 11$$

$$2x+5 = 11 \quad \text{or} \quad -(2x+5) = 11$$

$$2x = 11 - 5 \quad \text{or} \quad 2x+5 = -11$$

$$2x = 6$$

$$2x = -11 - 5$$

$$x = \frac{6}{2}$$

$$2x = -16$$

$$x = 3$$

$$x = -\frac{16}{2}$$

$$x = -8$$

$$\text{S.S } \{ 3, -8 \}$$

$$\text{iv) } \text{Solve } |3+2x| = |6x-7|$$

$$\frac{|3+2x|}{|6x-7|} = 1$$

$$\left| \frac{3+2x}{6x-7} \right| = 1$$

$$\frac{3+2x}{6x-7} = 1$$

$$3+2x = 6x-7$$

$$2x-6x = -7-3$$

$$-4x = -10$$

$$x = \frac{10}{4} = \frac{5}{2}$$

$$-\left(\frac{3+2x}{6x-7} \right) = 1$$

$$\frac{3+2x}{6x-7} = -1$$

$$3+2x = -6x+7$$

$$2x+6x = 7-3$$

$$8x = 4$$

$$8x = 4$$

$$x = \frac{4}{8} = \frac{1}{2}$$

$$x = \frac{5}{2} \text{ or } x = \frac{1}{2}$$

==

$$v) |x+2| - 3 = 5 - |x+2|$$

$$|x+2| + |x+2| = 5 + 3$$

$$2|x+2| = 8$$

$$|x+2| = \frac{8}{2}$$

$$|x+2| = 4$$

$$x+2 = 4 \quad \text{or} \quad -(x+2) = 4$$

$$x = 4 - 2$$

$$x = 2$$

$$x+2 = -4$$

$$x = -4 - 2$$

$$x = -6$$

$$x = 2 \quad \text{or} \quad x = -6$$

$$\text{vi) } \frac{1}{2}|x+3| + 21 = 9$$

$$\frac{1}{2}|x+3| = 9 - 21$$

$$\frac{1}{2}|x+3| = -12$$

Absolute value equation can not be equal to a
negative number

so

$\varnothing =$

vii)

$$\left| \frac{3-5x}{4} \right| - \frac{1}{3} = \frac{2}{3}$$

$$\left| \frac{3-5x}{4} \right| = \frac{2}{3} + \frac{1}{3}$$

$$\left| \frac{3-5x}{4} \right| = \frac{3}{3}$$

$$\left| \frac{3-5x}{4} \right| = 1$$

$$\frac{3-5x}{4} = 1$$

$$3-5x = 4$$

or

$$-\left(\frac{3-5x}{4} \right) = 1$$

or

$$\frac{3-5x}{4} = -1$$

$$3-5x = 4$$

$$-5x = 4-3$$

$$-5x = 1$$

$$x = \frac{1}{-5}$$

$$x = -\frac{1}{5}$$

$$\text{or } \frac{3-5x}{4} = -1$$

$$3-5x = -4$$

$$3-5x = -4$$

$$-5x = -4-3$$

$$-5x = -7$$

$$x = \frac{7}{5}$$

$$x = -\frac{1}{5}$$

$$\text{or } x = \frac{7}{5}$$

=====

$$\text{viii) } \left| \frac{x+5}{2-x} \right| = 6$$

$$\frac{x+5}{2-x} = 6 \quad \text{or}$$

$$x+5 = 12 - 6x \quad \text{or}$$

$$x + 6x = 12 - 5$$

$$7x = 7$$

$$x = \frac{7}{7}$$

$$x = 1$$

$$x = 1 \quad \text{or} \quad x = \frac{17}{5}$$

$$-\left(\frac{x+5}{2-x} \right) = 6$$

$$\frac{x+5}{2-x} = -6$$

$$x+5 = -6(2-x)$$

$$x+5 = -12 + 6x$$

$$x - 6x = -12 - 5$$

$$-5x = -17$$

$$x = \frac{17}{5}$$

==